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Allievo'----------------Matricola1------

Corsodi Laurea: _ 

x 0' 

Esercizio 2:
 
Dato il seguente circuito a regime detenninarc il valore della corrente mjS1uiata dall' amperometro
 
M~A .
 
J; = 30V; ! = {2 + 3/)/1; 21 = {1 +J)/1; 2z = {2 + SJ)D; f=5OHz; Nl=UIO, Nr 100, 
l-10em., s-4emJ, PrP1000 . 

• 
E: 

• 

I 
.s 



j
 

p..\ 
·c 

c 

6 R.. D 

II( 8 ?i-- cow--FQ. cio c. Q.... ;<3 l T~D.>-.eo..'bC1L II..\.. '1' lO I no 
c"'- ~«- o-Q.. ~m~~ d.J.. <..J:)'lfcJIJ,AA."<- -,~~ ~. 

(f.~\ ~~ [Ror+Ra) Ie.8' J 

G, '2.. R c i2..G \ E6 \-\ 

EB­
&'-1 ·Q~-\-f':.S -~~ 

1 1 ..... J­et" e. ~ 'c\' ,,;,.~"'-C) ""I1.QI::,.W--~ '\0- ~~ Kt-+-~ ~6 

co, ~J't_ oC! L.I.R ~<lJ.J..-.', d.eu~ [I "0 R' I ,'1'\-::"". 1 ....... ~ 
i<:t--\-~ ~E) 

'I1t><o =- ("bt-'-...-~ '"')+(Kt·~ '?U) -Co<..+\1S= 
~,- d£~ VI\",- -...- ?. G -:c. !2.?-. -\-7-.5'~..«.... ;) 'W_~, I 'J _ 

e:I: «.... ...1-, 7.6 -'L~S - (zs:i=:;:: (&i+-r=.:4.D+IlL...l-(/..I1~)-t~t1.'l-~J.! 
::r:, Rs -~"-+ e,,) = [2. '?-.. .\-- \<-54- e><.((Lrt+ f.4.) +-'?t-t '\-''ltJ..L =t> 

~"l =- T \ 1<-5 - (t\\ k-~t0';
 
~'?-..+-({-5 +- .L(R.!'.~) ~\I.+~)
 

\l€r =:... ~~f>r + VPK:.. ~{U=
 
.J Pre =- --:[ ~
 

-{­

\ 
~=--~---I 

:C~c. z, -'..l-
Pr- P-. C 

~--~-!lCC-~ \~5 



m-\( :# '-1 : 

~c I:) ~ ']::.\ ({..5 - '"I ~S 

W #3: 

C 
~ .-r ......; ::.L-Bc, z: ...L c 0 .,..- .J­ C-\-\ 

'-J c. l-\ ::: 1::: \\.'+ R K' - 'I C\-\ 

~Q ::# s. '. 
~ C 1-\ ::: - "E: 6 + \<<0 3 b 

'!c-~ :0- - 3. q.- ?-.~ 

~ -e r ~ -J-e Pc -I- ,-J + -J L~A-C 










